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QUESTION

EXPECTED ANSWERS

MARK

QUESTION 1: CO

MPREHENSION

1.1 Organisms adapt to their habitatv” in order to survivev'. 2

1.2 Both hunter and prey use camouflage to blend into their environment. v*
Organisms change or adapt to new conditions. v/ )

1.3 Animals hide from one another to catch their prey. v/ 2
Animals hide from one another to ensure they don’t get caught. v/
Accept any similar answer.

1.4 Camouflage v 2
Mimicry v’

1.5 In order to survive. In order to stay alive. v 1
Accept any similar answer.

1.6 A. Home v 1

1.7 To search for something. v 1
Accept any similar answer.

1.8 hunter v/ 1

1.9 To hide from their prey. v/ 2
To trap their prey. v/

1.10 They learned to nest in crevices of tall buildings. v/ 1

1.11 Truev' His coat resembles his habitat so much that you can look directly 2
at him without even seeing him. v/
Accept any similar answer. No mark for only true

1.12 “wild” v'v" (award one mark for the correct answer and one mark for 2
using quotation marks correctly.)

1.14 They often help themselves to any food they can grab, whether it is in 1

trashcans, or inside people’s homes! v/

TOTAL QUESTION 1: 20

QUESTION 2: VISUAL TEXT

2.1 Accept any suitable answer. v’ 1
2.2 fatherv’, sonv’, pen/pencilY’, paperv” (not in any specific order) 4
2.3 Father and son discussing why it is necessary to learn
Mathematics. v° 1
/Accept any similar answer.
2.4 B. Confused v/ 1
2.6 Children doing Mathematics. v/ 1
Accept any similar answer.
2.7 Award marks if the learner has answered yes or no v'with a reason that 2

supports, explains or motivates the yes or no answer. v/
Do not award a mark for only a yes or no answer. Do not award a mark for
the reason if the learner does not answer either yes or no.

TOTAL QUESTION 2: 10




QUESTION 3: SUMMARY

In the wild prey adapt to their habitat or hide to escape their prey. v/
They use camouflage to fool predators that scan their habitat. v/
Predators can also use camouflage to hide when they stalk their prey. v’
Mimicking is also used by prey to fool predators. v’

Animals can also survive by adapting to new conditions. v’

TOTAL QUESTION 3: 5

QUESTION 4: LANGUAGE STRUCTURE AND USE

4.1.1 scanning v 1

4.1.2 to fool v/ 1

4.2 unexpectedly v/ 1

4.3 They had v'developed ways of adapting to severe habitats. 1

4.4 The predator will bev” scanning the area. 1

4.5 Raccoons easily adapt to residential areas that havev” taken over their 1
woodland homes.

4.6 round v’ 1
4.7.1 The young lion v’ 1
4.7.2 hunts v/ 1
4.7.3 The fast-moving prey v 1

4.8 highv” or tallv’ 1

4.9 So how do they do it? v/

or 1
But did you know that it often works the other way around, too? v
Accept any of above answers.

4.10 often v/ 1

4.11 Animals are able to survive andv” adapt to new conditions. 'Animals' must
not be repeated. No capital letter after the conjunction. v/

TOTAL QUESTION 4: 15

GRAND TOTAL 50




